

(Affiliated to University of Lucknow, Lucknow)

Swami Vivekananda Libray

4.2.4- percentage per day usage of library by teachers & students

(Foot falls and login data for online/ offline access)

(Data for the latest completed academic year 2023-24)

4.2.4- Number of teachers and students using library per day over last one year

Data Requirement:-

- Upload last page of accession register details.
- Method of computing per day usage of library.
- Number of users using library through e-access.
- Number of physical users accessing library.

LIBRARY Somi Hagy No.

Principal

Lucknow Public College of Professional Studies

Vincera Khand, Gomti Nagar Liku



LUCKNOW PUBLIC COLLEGE OF PROFESSIONAL STUDIES

SWAMI VIVEKANANDA LIBRARY

4.2.4- percentage per day usage of library by teachers & students (foot falls and login data for online access)

(Data for the latest completed academic year)

METHOD OF COMPUTING PER DAY USAGE OF LIBRARY (2023-24)



Asingh Principal

Line now Public College of Professional Paulies Gramma Khand, Gomti Nagar Lau

Lucknow Public College of Professional Studies Swami Vivekananda Library-2023-2024

4.2.4- percentage per day usage of library by teachers & students

(foot falls and Physical login data(Biometric access)

(Data for the latest completed academic year)

<u>Months</u>	Total Usage			· ,	
	<u>Teachers</u>	<u>Students</u>	Total usage	Working Day	Average number of usage of per Day
july	156	3567	3723	26	143.19
august	158	4987	5145	24	214.38
september	144	5456	5600	24	233.33
october	184	5919	6103	23	265.35
november	147	4578	4725	21	225.00
december	156	3348	3504	26	134.77
january	180	3573	3753	20	187.65
february	168	3498	3666	21	174.57
march	175	3186	3361	25	134.44
april	184	4375	4559	23	198.22
may	126	2754	2880	17	169.41
june	56	534	590	9	65.56
	Total Teacher's - 1834			Total days working days	

Total teachers and students - 1446+46= 1492

4.2.4. Number of teachers and student using library per day over last one year

Formula	Number of teachers and students using library per day × 100 Total number of teachers ans students	<u>47609*100</u> 1492	3,190.95
Per day Average	<u>Total Usage</u>	47609	
Total Working Days		259	183.81

Neelam Kanaujia

Dr. Anil Kumar (PRINCIPAL)

Eucknow Public College of Professional Trulies Vinamra Khand, Gomti Nagar 💸



Lucknow Public College of Professional Studies Swami Vivekananda Library-2023-2024

4.2.4- percentage per day usage of library by teachers & students

(foot falls and login data for online access)

(Data for the latest completed academic year)

Data for the latest completed academic year)						
Software Name	Teacher's & Students	Total usage	Total Working Days	Average Number of usage of per day	Months	
OPAC Login Data	1492	2270	259	8.764478764	July to June	
J-Gate Login Data	1492	1734	259	6.694980695	July to June	
e- Books Login Report	1492	4346	259	16.77992278	July to June	
Vartual Journal (GST Law) Login Report	1492	10730	259	41.42857143	July to June	

Total Usage:-19080 Total working Days :- 259

Total teachers and students - 1446 +46 = 1492

4.2.4. Number of teachers and student using library per day over last one year

Formula	Number of teachers ans students using library per day × 100 Total number of teachers ans students	<u>19080*100</u> 1492	1278.82
Per day Average	<u>Total Usage</u> Total Working Days	<u>19080</u> 259	73.66

Neelam Kanaujia (LIBRARIAN)

Dr. Anil Kumar (PRINCIPAL)

Principa

Los many Public College of Professional Charles Vinamra Khand, Gomti Nagar Eks